
Integral Calculus ­ 4.2 ­ Area November 13, 2017

Summation Formulas

4.2 Area

a b

Divide the interval [a,b] into n equal 
subintervals, each of width (b­a)/n.

Here, the height of a rectangle is 
determined by the right endpoint of 
each subinterval; this is called an 
upper sum.

The area of each rectangle will be:
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a b

Here, the height of a rectangle is 
determined by the left endpoint of 
each subinterval; this is called a 
lower sum.

The area of each rectangle will be:
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Use upper sum and lower sum to approximate the 
area under the curve.
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